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Three types of °w3 are invalid — 29100 B TWHY

OVERVIEW

The X3 quotes the 7awn of the last P19 concerning 172109 1P '3; where '
SIYYR argues on the Xnp Xin and requires no 71°N7 *7Y, only 77701 7. Our
mooin will be discussing the opinion that the p"n of this mwn is »"1. Even
though there seem to be some differences between n"7 and this p"n,
nevertheless they can be reconciled.

= 9INM 2299 PNINN TN (%9 9719p%) NN 7992 Y7997 NN
There are those 2°X77K quotedl in the last P92 of 1Y) '0n who establish
that the p"n of this mawn of 12105 1> '3 follows the opinion of n''a.2

mooIn anticipates the following question:
=932 4990 1PV2)2 095N WALV YAVNN NIVNN T3 NN 2297 N NHPNT 2) JY 9N

Even though 2"1 is of the opinion® that he who deviates from the
proscribed’ method that the avsn proscribed concerning v, the child
that is born after the woman remarries on the basis of such a v3, that child is

a atnn. In all these three 7703 there was a deviation from the proscribed method (they are
27100 Pu2) and nevertheless the Twn states Iwd 7917 no°1 XY How can we reconcile this
with the opinion of 1"97?

mooIn responds:
- YD 199N NNYL 13991 XINT ON 1929 N

The n''9 says that the reason that here the child is deemed to be 9w> and

not a NN is -
- VY 7303 1990 Y09 XYW yavnn 1NN 129

Because this was the original stipulation of the 2°»21 when they instituted
the various Mipn of writing v that in these three cases enumerated in this
mwn, the child will not be considered »105.

mooIn has additional difficulties reconciling the 71wn of Pva A with the ruling of »n"9:

"The xma there, when discussing this 7wn, states: "7 &r°17; this (73wn) is understood according to n'".

* It would seem appropriate that the p"n of X" (who maintains *n73 77°0% *79) should be 2" who maintains
°NA2 A2°N0 TV,

? See 2,7 XA

* The word yavn means an imprinted coin. It is to be understood to mean, that we are to follow a uniform
pattern, just as all coins are imprinted in the same way.
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And even though »''1 is of the opinion that when the 770 writes the word
(719) an29; the 7N means that the 03 should be signed (by witnesses). How can

we reconcile this opinion of »"1 with this 73wn which states: 0>7v 1°%¥ X1 17> 2022 202 the
791 is w3. There are no 2°7v on this vi; how can it be a w2 0213

N1B0IN answers:
- ©%1¥ 159 PN Y1 AN93 190 W5 0PN Yan

Nevertheless, the child will be deemed w2, , in the case where the v was
written in the husband’s handwriting, even though there are no witnesses

who signed the v3, even according to »"9. The reason being —
=9 NV NIIHN TP 1PN AN MNY HYANY 11951

That since the husband himself wrote the v in his own handwriting, there

is no greater act of signing the v3, than this act of the husband writing the 3
himself.®

mdoIn now questions how the third case of the 71wn can be reconciled with n"3 who
requires M’ TY:

— TN 7Y NN 12 PPN)
And concerning the case where there is only one witness who signed on the
v3; how can n"3 agree that W 7917 -

mooin qualifies and explains his question:
= 459V 1393V I 179 AND (ow 1 o)) NINA P9 9INT INNDY

According to the X7 X in the last P95, who interprets the 71w» which states
X"V XX 12 PR, to mean that the v) was written in the husband’s hand writing
and in addition a witness signed as well. That is how we interpret the 7awn;

it is understood that this may follow the ruling of »"7; as was stated previously that
since it is in the husband’s handwriting 117 72173 72°00 2 ]’N.7

— YD TP 9990 ANDT MMNT INIY NON

> mooin is asking that this is not merely a case of 21 290 Wavw yavan mwni (which we can explain [as
mMooIn just did] that the 051 made an exception by these three 1°v°3), but rather this is a Xn»7187 7109 if we
maintain (as " does) that >n72 An° R Y

® The reason why an) means anm is that we need the witnesses to ascertain that the husband is actually
initiating the divorce and directing the 1910 to write the v3. Through the 2>7¥7 n»>ni we know that there was
a 2n21. How much greater is this assurance (that the husband is initiating the divorce) when the 3 is in the
husbands own handwriting. See ‘Thinking it over’ # 1.

" The mwn teaches us this 17 of 791 37° 2N, in addition to the 77 of 17° 25, in order to inform us that even if
it was 73117 and, nevertheless it is a 2109 V3. Only 723772 is W 72171 See following ('x77) w» 7"7 'oIN.
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However, according to the one who interprets the statement X"¥ X?X 12 PR
to mean there was merely the handwriting of the scribe plus the signature

of one witness, it is difficult to understand why the v should be w5 even
72372 according to n"9. There are no two 0*7V signing the v. We cannot say here 77 X
W 791 N, for it was merely the handwriting of a scribe, not the husband.

mooIn anticipates a possible resolution to this question. Perhaps we can say that the
handwriting of the 7910 be considered as an additional witness. One may argue that the
1910 by writing the 3 is testifying that the husband is divorcing his wife. Together with
the witness who actually signed the v we have two witnesses. N501n refutes this idea.

= NAYND 1P 1IINNY 21N 9910 RNYWT YIND
We should be concerned perhaps the 9910 wrote the v for practice and

he threw it into the garbage dump -
- DY JNXI PRY TAN 1Y 1YY NINNM AYND DNNI)
And then the woman (perhaps) came along, found the v) and had one

witness sign it, and we do not have here two witnesses. The writing of the
1910 does not assure us that the husband asked the 7910 to write the v). It is possible that
the 790 wrote the vx for practice. The question remains how this can be a w2 v3,
according to n"9, since we do not have two o>7v.

mooin replies:
= 792 1911 HIYINY DIVYYIN DI919IDNVY 91217 U

And one can say that the 291570 are concerned for various problems® that
may develop and are careful to prevent these types of problem by destroying
any v which was written 725n7%. We can therefore assume that this v3 was written at the

request of the husband, and together with the signature of the witness, it can be
considered as if two witnesses (the 1910 and the X"Y) signed it.

mooIn responds to an anticipated question; if the 0910 are so careful to destroy any v
that was written 72507, then obviously this v3 was written at the request of the husband.
Let us consider the handwriting of the 7910 as one 7¥, and we should require only one
more additional 7. Why does the m1wn say that 731 9910 203 is 72°1n3% 7109?

mooIn responds:
= AN 1Y 990 NN AYNNY 993D 9NN M9 PPN 11

However, they are not that accustomed to be very scrupulous never to
leave lying around a v that was written 7170777 that the handwriting of the

¥ See “Thinking it over’ # 2.
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1910 should be considered as a valid R''Y. It is only 72v>72 that we are not 501
the 791 if there was 7¥1 9910 an>. Initially, however we require two 2°7v. A v with 2n>
7YY 910 is 2109 77°1N3%, for we have no ironclad assurance that the 21910 are scrupulously
careful with 103 that are written 722075.

SUMMARY

The m1wn of 22105 1" '3 which states WD 7217 NXW1 OXY can be reconciled to
follow (even) the opinion of »"7 who maintains that Wwavw vavnan mawna 95
atn 193 PYoa 0on and that *nad 72°00 7Y, The reason why by these 102 '
2°2100 the 791 is not a 71, is because the o1 were JPnNn 72°N3% that these
three 103 are an exception to this rule and the 791 is w>.

The reason why 2°7v 1Y XY 17> 2032 205 is W2 is because there is no
greater 7n°N than the 7° 203 of the husband himself.

The case of R"Y XX 12 X is easily understood according to the opinion that it
means X"¥1 17> 2n3. Even according to the opinion that it is X"¥1 9910 22,
there are really two 2°7v on this vi. The 7910 2n2 is also testifying that the
husband asked him to write the vi. Usually 2°9910 are meticulous in
destroying 7°v°) written for practice. The fact that this v is being presented
(and signed by an X"V), lends us to believe that the husband told the 7910 to
write the vA. It is not sufficient proof however to permit using such a ©3
127 Nna%.

THINKING IT OVER
1. Moo explains that 17° 202 is WA 773 AP0 7 PR Why then is it a 03
910072'°

2. moon states that when writing Ta9n7> 0% the 0190 are Pwan» owwin.'
What 9won can there be since we are discussing the opinion of n"9 that
7MWY 7203 is not required?!

3. What proof can be brought (from the words of »"7 himself) to support
what M990 contends: 121 72 92 77172 N2 PR M?

? See footnote # 6.

1 See following 203 7"7 'O
1 See footnote # 8.

2 See »"oa.
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